

5以内口算 60道

姓名 _____ 正 数 _____

$3 + 0 + 1 =$

$5 - 2 + 0 =$

$3 - 1 - 0 =$

$3 + 2 - 5 =$

$3 + 2 =$

$1 - 0 =$

$5 - 1 - 2 =$

$1 - 1 + 5 =$

$1 - 0 + 1 =$

$5 - 1 - 1 =$

$1 + 1 =$

$0 + 3 + 1 =$

$1 + 2 + 1 =$

$3 - 1 + 0 =$

$0 + 3 =$

$1 - 1 + 4 =$

$5 - 5 + 3 =$

$2 + 3 + 0 =$

$0 + 1 - 0 =$

$4 + 0 - 0 =$

$5 \div 5 =$

$2 - 0 =$

$2 + 0 + 2 =$

$0 + 0 + 4 =$

$4 - 2 - 1 =$

$2 + 1 - 0 =$

$1 + 4 - 5 =$

$1 + 3 + 1 =$

$0 + 1 + 1 =$

$5 - 3 + 2 =$

$1 + 1 - 2 =$

$3 - 2 + 4 =$

$4 - 3 + 0 =$

$5 + 0 - 3 =$

$5 - 4 + 4 =$

$0 + 3 - 2 =$

$1 + 1 + 0 =$

$0 + 2 - 1 =$

$0 - 0 + 0 =$

$2 - 2 - 0 =$

$0 - 0 + 1 =$

$2 - 0 + 1 =$

$3 - 2 - 0 =$

$0 - 0 =$

$4 - 2 + 0 =$

$5 + 0 + 0 =$

$4 - 1 - 1 =$

$5 - 4 - 0 =$

$2 + 2 + 1 =$

$3 - 2 + 3 =$

$3 + 2 - 3 =$

$1 - 0 + 3 =$

$3 + 0 - 0 =$

$1 - 1 + 1 =$

$4 - 4 + 2 =$

$5 - 4 - 1 =$

$1 + 2 =$

$3 - 2 + 0 =$

$5 + 0 =$

$5 - 1 =$

$4 - 1 + 0 =$

$2 + 2 - 4 =$

$1 - 1 + 2 =$

$3 - 3 =$

$0 + 1 + 3 =$

$1 + 0 =$

$5 + 0 - 2 =$

$0 + 2 + 3 =$

$0 + 3 + 2 =$

$3 - 3 + 4 =$

$3 + 1 + 0 =$

$1 + 1 + 2 =$

$1 + 0 + 3 =$

$2 + 1 + 0 =$

$4 + 0 + 1 =$

$4 + 1 - 4 =$

$3 - 1 + 3 =$

$0 + 4 - 1 =$

$5 - 0 + 0 =$

$3 - 0 + 1 =$

5以内口算 60道

姓名 _____ 正数 _____

$0 + 2 =$

$3 - 0 - 0 =$

$2 - 2 + 3 =$

$4 - 0 - 3 =$

$4 - 2 =$

$0 - 0 + 2 =$

$1 - 1 + 3 =$

$5 - 3 + 1 =$

$3 + 0 + 2 =$

$4 \div 4 =$

$5 - 3 + 0 =$

$1 + 0 + 1 =$

$5 - 2 - 0 =$

$2 + 0 + 3 =$

$5 - 0 =$

$2 + 0 + 0 =$

$3 + 1 =$

$0 \div 1 =$

$1 + 2 + 0 =$

$3 - 1 - 2 =$

$4 - 4 + 5 =$

$3 + 0 + 0 =$

$5 - 2 - 1 =$

$2 + 3 =$

$3 + 2 - 2 =$

$0 + 0 + 2 =$

$5 - 3 - 2 =$

$3 + 2 + 0 =$

$1 + 0 + 4 =$

$4 + 1 - 5 =$

$5 - 5 + 0 =$

$0 + 1 + 2 =$

$2 + 3 - 3 =$

$3 - 0 + 0 =$

$4 + 0 - 4 =$

$5 - 4 + 0 =$

$4 - 0 - 1 =$

$1 + 0 + 0 =$

$5 - 4 + 2 =$

$0 \div 4 =$

$3 + 1 - 2 =$

$3 + 0 - 3 =$

$5 - 1 + 1 =$

$2 - 1 + 2 =$

$0 + 2 + 1 =$

$0 + 3 - 1 =$

$2 + 1 =$

$4 - 0 + 1 =$

$5 - 2 =$

$1 + 4 - 3 =$

$0 + 4 - 3 =$

$1 + 2 + 2 =$

$5 - 5 - 0 =$

$4 - 4 + 1 =$

$3 - 1 + 1 =$

$0 + 1 =$

$4 - 2 + 2 =$

$4 - 1 + 1 =$

$1 + 1 + 3 =$

$0 - 0 - 0 =$

$4 - 4 + 0 =$

$1 + 1 + 1 =$

$1 - 0 + 0 =$

$5 - 1 + 0 =$

$5 + 0 - 5 =$

$3 - 1 + 2 =$

$2 + 1 - 1 =$

$1 + 3 =$

$2 - 1 + 4 =$

$2 - 0 + 2 =$

$4 - 0 =$

$2 - 1 - 1 =$

$2 + 2 - 0 =$

$2 + 0 - 1 =$

$2 - 0 + 0 =$

$5 - 1 - 4 =$

$0 + 4 - 0 =$

$2 - 1 + 0 =$

$3 + 2 - 1 =$

$3 - 1 - 1 =$

5以内口算 60道

姓名 _____ 正数 _____

$0 + 1 - 1 =$

$4 + 0 - 2 =$

$3 - 3 + 0 =$

$2 - 2 + 0 =$

$2 + 1 + 2 =$

$1 + 3 - 2 =$

$1 + 4 - 1 =$

$4 - 1 + 2 =$

$2 + 3 - 1 =$

$0 + 3 - 3 =$

$5 - 5 + 1 =$

$5 - 0 - 0 =$

$0 + 4 - 2 =$

$3 + 1 - 3 =$

$1 - 0 - 1 =$

$0 + 5 - 5 =$

$5 + 0 - 4 =$

$5 - 5 + 4 =$

$0 + 4 + 0 =$

$3 - 3 + 5 =$

$3 - 2 =$

$4 - 4 + 3 =$

$4 - 3 + 2 =$

$4 + 1 =$

$4 - 1 - 2 =$

$0 \div 5 =$

$3 + 1 - 4 =$

$0 + 2 - 0 =$

$0 + 1 + 4 =$

$5 - 5 + 5 =$

$2 - 1 + 1 =$

$3 + 2 - 4 =$

$3 - 0 - 1 =$

$4 - 0 - 2 =$

$3 - 3 + 1 =$

$4 \div 1 =$

$3 - 2 + 1 =$

$4 + 0 =$

$0 + 3 + 0 =$

$0 + 5 =$

$5 - 0 - 2 =$

$0 + 1 + 0 =$

$3 + 0 - 3 =$

$5 - 4 - 1 =$

$1 + 3 + 1 =$

$1 + 0 + 4 =$

$0 \div 1 =$

$0 + 1 + 4 =$

$4 - 1 - 1 =$

$3 + 0 - 3 =$

$2 + 3 =$

$5 - 5 - 0 =$

$3 - 0 - 1 =$

$5 - 3 + 2 =$

$4 + 0 - 4 =$

$2 - 1 + 0 =$

$1 - 0 + 3 =$

$3 + 1 - 3 =$

$2 + 1 - 1 =$

$1 + 0 + 1 =$

$0 + 3 - 1 =$

$0 \div 5 =$

$5 - 4 + 4 =$

$0 + 3 + 2 =$

$0 + 3 - 3 =$

$1 + 1 + 0 =$

$2 + 0 - 1 =$

$2 + 1 - 0 =$

$5 - 2 - 0 =$

$5 - 5 + 4 =$

$4 - 0 + 1 =$

$4 - 4 + 0 =$

$5 - 4 + 0 =$

$0 + 4 - 0 =$

$2 - 0 + 1 =$

$5 - 4 - 1 =$

$2 - 1 - 1 =$

$4 - 1 + 0 =$

$5 + 0 - 5 =$

$2 + 3 =$